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The description of personality based on external
appearance is called

A. deep view B. surface view

C. normative vies D. observational view
Individual differences are found in

A. intelligence level B. attitudes

C. motor abilities D. All of these

What is essential to start the process of thinking?
A. Past experience B. Language

C. Reasoning D. Problem

The concept of Intelligence Quotient (IQ) was
developed by

A. William Stern B. Reid

C. Terman D. Cattell

Which of the motives is relatively stronger in
children from progressive families?

A. Affiliation B. Curiosity

C. Achievement D. Aggression

Which the following is not the cause of
backwardness?

A. Lack of native intelligence

B. Physical defect

C. Specific backwardness

D. Healthy environment

The first typological classification of personality was
presented by

A. Munn B. Sheldon

C. Hippocrates D. Cattell

General and specific factor theory was propounded

by .
A. Alfred Binet B. Spearman
C. Guilford D. Thurstone

Indirect methods of tension reduction are often
known as
A. problem solving method
B. defence mechanism
C. subjective technique
D. None of these
results from the differences in the

structure and function of the brain.
A. Tension B. Backwardness
C. Dyslexia D. None of these
An individual whose mental quotient is is
normally spoken of as mentally retarded.
A. below 70 B. above 70
C. between 80-100 D. None of these

children have ability to absorb abstract
concept.
A. Backward B. Gifted
C. Mentally retarded D. None of these
Which is not a type of Evaluation?
A. Norms B. Formative
C. Summative D. CCE
Which of the following is not the problem of the
socially deprived?
A. Lack of motivation for learning
B. No opportunities to develop creativity
C. Healthy conditions of their living
D. Facing discriminatory behaviour in the school
In teaching process student is
A. dependent variable
B. independent variable
C. intervening variable
D. None of the above
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According to RTE ACT, 2009 working hours per
week for teachers are .

A. 40 hours B. 42 hours

C. 45 hours D. 48 hours

NCF 2005 lays emphasis on .

A. learning by doing

B. role method

C. solving the problem

D. All of these

Which of the following is not the part of the triangle
of evolution?

A. Educational objectives

B. Evaluation

C. Teaching experiences

D. Learning experiences

Which of the following statements is not true about
the importance of Action Research?

A. The consumer is the researcher

B. The solution of the problems can be achieved
quickly

C. The solution of the problems are put in practice
and not evaluated

D. None of the above

“Environment is an external force which influences
us”. Who said this?

A. Woodworth B. EJ Ross

C. Anastasi D. None of these
Reasoning, curiosity and observation are developed
at the age of .

A. 7 years B. 11 years

C. 9 years D. 6 years

Area of physical development is

A. nervous system

B. growth of muscles

C. endocrine glands

D. All of the above

In this stage the children develop great love of
exploring and wandering.

A. Infancy B. Later childhood

C. Adolescence D. Maturity

The theory of transfer of learning by Thorndike is
called

A. similarity principle

B. theory of identical elements

C. theory of formal discipline

D. None of the above

Which of the following is not the law of Heredity?
A. Similarity B. Variation

C. Regression D. Motivation

At the age of . The visual and auditory
sense development is almost complete.

A. 3 or 4 years B. 6 or 7 years

C. 8 or 9 years D. None of these

Under signal learning, which of the following is
learnt?

A. Traditional accommodation

B. Psychology

C. Environment

D. Psychophysical

Which of the following is an example of Acquired
Motives?
A. Hunger
C. Interest

B. Reward
D. Rest
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Motivation is characterized by

A. cognitive arousal B. affective arousal

C. Both (A) and (B) D. None of these

Thinking is mental activity in the . Aspect
A. cognitive B. affective

C. psychomotor D. None of these

Ram loses the cost of 6 pens of selling of 144 pens.
What is the percentage of less?

A2 B. 6

C. 14 D. 4

The average of 3 numbers is 7 and average of first
two numbers is 4. What is the third number?

A. 15 B. 13

C.7 D. 4

Mohan purchase a car in Rs. 250000 and sold in
Rs. 348000. What is the percentage of profit in
car?

A. 40 B. 39.2

C. 38.4 D. 38

In how many years interest of Rs. 3000 will be Rs.
1080 at the simple interest rate of 12% annually?

1

2=yr
A. 3yr B. 2
1

2yr 35‘5”

C. D.
At what rate the simple interest will be 2/5 times to
the original sum in 10 yr?

SE%
A. 4% B. O

62%
C. 6% p. 3

Two lines AB and CD cut each other at O. if
ZA0C =50°, then £BOC

is equal to
C‘\\ B
A D
A. 400 B. 500
C. 140° D. 130°

I . . ZBAC = 30°, ZABC = 50"
n the given figure
nd £CDE = 25D,then ZAED

a

is equal to
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The sum of length of 2 sides of a triangle is always
A. less than third B. greater than third

C. equal to third D. 2/3 to third

The diagonal of a rectangle field is 17 m and its
perimeter is 46 m. what is the area of the field?
A.112sgm B. 120 sg m

C.132sgm D. 289 sgm

“Mathematics is the mirror of civilization and
culture”. Who said this statement?

A. Bacon B. Hogben

C. Locke D. Dutton

The ratio of volumes of 2 cubes is 27 :
will be the ratio of the areas of surfaces?

64. What

A.3:8 B.3:4
C.9:16 D. 27 : 64
Mathematics is the science of

A. space B. education

C. calculations D. life of human

What is the importance of Mathematics at Primary
Level?

A. Cultural B. Social

C. Religious D. Mental

Which of the following is right?

N (a-b)* =a"-2ab+b*
5 (@- b)* <a®+b?*-2ab
c (a- b)* =a” - 2ab® + b®

5 (a- b)* =a® + 2ab® + b*

Difference  between
diagnostic test is

A. of objectives B. of nature

C. of level of difficulty = D. None of these

Most of use of Mathematics done in the activities of
human life, that is

achievement test and

A. cultural B. psychological
C. social D. economical
Evaluation is closely related with

A. content

B. evaluation strategies

C. objectives

D. Process of learning

Most effective teaching aid is

A. non-projected B. direct experience

C. projected D. None of these

The most important characteristic of objective type
test is

A. reliability B. validity
C. objectivity D. All of these
Which work is not related to a teacher?
A. Planning B. Guidance
C. Teaching D. Budgeting
4-(2-9)°+3"+1+3

is equal to
A. 17 B. 16
C. 15 D. 12

When the number 3% is divided by 5, the
remainder is

A. 1 B. 2

C.3 D. 4
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Which of the fraction is least?

24 10

A 25 s 11
99 68

< 100 5. 69

Ten thousand + Ten ones + Ten tens equals

A. 10110 B. 11010

C. 10011 D. 101010

Number of minutes in 10 days is equal to number
of seconds in

A.2h B.3h
C.4h D.5h

0.16 0.18
{256} = {16} will be equal to
A. 4 B. 16
C. 64 D. 2s6.25
Which of the following is not correct?
A_16}_15 B_16{_2D
C._lﬁ}l D._16{_3

The least number which is a perfect square and is
also divisible by 10, 12, 15 and 18 is

A. 3600 B. 2500
C. 1600 5 900
125 4,
What is the LcM of 5 2 © 27
= 10
A 24 B, 27
E
3

C. D. None of these

Two numbers are in ratio of 3 : 4 and LCM is 84.
Which is the larger number of these two numbers?

A. 21 B. 24

C. 28 D. 84

Concave mirror can form image when the object is

placed very close to the mirror

A. Real, Erect and Smaller

B. Virtual, Erect and Magnified

C. Virtual, Opposite and Smaller

D. Real, Opposite and Smaller

Which of the following is one of three biodiversity
hot spots of India?

A. Aravalli Hills B. Khasi Hills

C. Himalaya D. None of these
Which is the state animal of Rajasthan?
A. Tiger B. Cow

C. Camel D. Sheep

Which statement is correct in the following?
A. All metals are tensile

B. All non-metals are tensile

C. Generally metals are tensile

D. Some non-metals arte tensile

Which is not a source of air pollution?

A. Automobiles B. Industries

C. Solid waste D. Dust particles
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Which of the following is not listed as wetland in
Ramsar Convention?

A. Wooler lake

B. Rudrasagar Lake

C. Keoladeo National Park

D. Rajsamand Lake

Which is not a renewable resource in Rajasthan?

A. Hydro electricity B. Natural gas

C. Wind energy D. Solar power

"Science may be defined as an ordered knowledge
of natural phenol- menon and the rational study of
the relations between the concepts in which those
phenomenon are expressed”.

A. WC Dampier B. BS Bloom

C. Karl Popper D. JWN Sullivan

In which of the following the garden cultivation is
studied?

A. Botany B. Horticulture

C. Geology D. Anatomy

Which of the following is desirable aim of science
Education at Primary level?

A. To know the facts and principles of science and
its applications

B. To nurture the natural curiosity, aesthetic sense
and creativity in science and technology

C. To imbibe the values of honesty, integrity and
co-operation

D. All of the above

Which is the principle of learning Environment
Study?

A. Principle of necessity

B. Principle of utility

C. Principle of relationship with life

D. All of the above

Which gas is responsible for “Global Warming”?

A. Nitrogen (Nz)

B. Methane (CH4)

C. Carbon dioxide (CO;)

D. Sulphur dioxide (S03)

How many main steps are followed in project
method?

A. Four B. Three

C. Eight D. Six

To create interest in subject Environment Studies
in lower classes, the teaching method used, must
be

A. inductive

B. recreative and game related

C. cramming

D. deductive

Principle of ‘Specific to General’ is used in

A. analytic method B. heuristic method

C. synthetic method D. inductive method
Which is projected aids?

A. Bulletin Board B. OHP

C. Model D. Flannel Board

What is the characteristics of a good question
paper?

A. Validity B. Reliability

C. Both (A) and (B) D. Comprehensive
In which year Child Marriage Prevention Act was
passed in India?
A. 2006
C. 2011

B. 2008
D. 1997


http://www.gradeup.com/

wWww.gradeup.co

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Which is not a characteristic of a family?

A. At least two different adults of different gender
living together

B. The income of each member deposited
separately

C. They use same house, food and perform
common social activities

D. Common responsibility for security and children
When National child labour Elimination Authority
was formed?

A. 16t August, 1996

B. 5% June, 1990

C. 22nd July, 2002

D. 26t September, 1994

Which type of fertilizer is useful for gardening?

A. Urea B. Sodium Phosphate
C. DAP D. Vermi Compost
Which is not a correct match?
Type of cloth State

A. Firan &k

B. Pano-Bhaju WB

C. Rahide HP

D. Phulkari Panjab
A A B.B
C.C D.D

Which of the following stones is not used for
flooring of the houses in Rajasthan?

A. Marble B. Kota stone

C. Soap stone D. Sand stone

The total number of members of Parliament form
Rajasthan is

A. 20 B. 25
C. 22 D. 24
Which is not a correct match?
Fair State
Al Ambaji Fair Gujarat
B. Magh Fair up
C. Mainadevi Fair Asom
D. Beneshwar Fair Rajasthan
A A B.B
C.C D.D

Where Rajasthan State Chemical Works is located?
A. Deedwana B. Nagaur
C. Barmer D. Parbatsar
In which year Consumer Protection Act was
introduced in India?
A. 1981
C. 1986
Malaria is caused by
A. Plasmodium falciparum
B. Entamoeba
C. Retrovirus
D. Salmonella
Where will you find ciliated epithelium in body of
animals?
A. Stomach B. Bronchiole
C. Intestine D. Air sac
Which of the following is not a simple tissue?
A. Xylem B. Parrenchyma
C. Collenchyma D. Sclerenchyma
English Language - 1

B. 1985
D. 1988

5|Page

91.

92.

93.

94,

95.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

,@
gradeup
Which of the following contains the words

beginning with the same consonant sound?

A. Charm-Choices B. Church-Chemistry

C. Cheap-keep D. Ship-Chip

Which of the following contains the same vowel
sound?

A. kid-beat-tight B. deep-keep-sweep

C. find-seat-kite D. feed-fine-mean

Choose the correct phonetic symbol for the medial
sound of the word ‘machine’.

A. /s/ B. /dz/

C. /f/ D. /tf/

The basic language skills are

A. listening-speaking-reading-translation

B. speaking-talking-answering-expressing

C. listening-speaking-reading-writing

D. reading-writing-questioning-communicating
Language learning is related to

A. knowledge B. skills
C. Power D. copying
Bilingual method was suggested by
A. Dodson B. Smith
C. Herbert D. Reason

The grammar translation method emphasizes
A. oral fluency

B. command over speech

C. use of mother tongue

D. project method

Structures and patterns are used as a teaching unit
in

A. direct method

B. structural method

C. grammar and translation method

D. project method

The productive skills of a language are

A. listening and writing

B. reading and writing

C. speaking and listening

D. speaking and writing

Proper speech habits can be developed effectively
through

A. vocabulary practice B. quizzes

C. dictations D. pronunciation
Language skills can be learnt better

A. if they are taught in an integrated manner
B. with the help of challenging drills

C. through written tests and practices

D. if taught in isolation

A video is

A. an audio aid

B. a visual aid

C. an audio-visual aid

D. None of these

Audio-visual aids make learning

A. easy B. interesting

C. effective D. All of these

Unit test is an expression of evaluation.
A. normative B. effective

C. formative D. cognitive

Proficiency tests include
A. speaking
C. writing

B. reading
D. speaking and writing
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Communicative competence tests take into account
A. grammatical accuracy

B. situational appropriateness

C. fluency

D. All of the above

In objective type questions choice is
provided.

A. limited B. minimum

C. multiple D. no

The basic requirement of a language proficiency
test is that it must be
A. complex

C. ambiguous

B. reliable
D. simple

Direction (109-113): Read the following passage
and given the answer.

The Kingfisher is a bird that gets its name because
it truly is a king among the fish catching birds. In
catching fish, it sits on a limb of a tree that hangs
over a stream, looking into the water beneath.
Then, as it sights a fish, it drops like a stone into
the water. Seconds later, it pops up with the fish in
its bill. In addition to fish, it eats worms, crabs and
selfish. It is found mostly near the fresh water
streams of Europe and North America. The
Kingfisher’s cry is shrill and piercing. The North
American Kingdfisher, called the belted Kindfisher,
because of a belt of blue feathers across its white
breast, is larger than the European variety. The
European Kingfisher is a beautiful bird. Its feathers
are bright blue, orange, deep red, pink and green.

Find out the word from the text which means

‘branch’.

A. bill B. limb

C. shrill D. pops up
The opposite of ‘polluted’ is

A. fresh B. belted
C. piercing D. bright

Which of the word is correctly spelt?

A. Enthusiastic B. Enthusastic

C. Enthuesistic D. Enthesistic

The adjective ‘beautiful’ can give us the noun

A. beautify B. beauty

C. beautifully D. beautifulness

Find out the word from the text which means ‘a
small current of water’.

A. stream B. pops
C. shrill D. drops
Directions (114-117): Read the following

passage and given the answer.

Passage
Animals may become extinct in many ways. First of
all they may evolve into another species and not
really die out of all. For example, through time,
many early form of horses and human beings have
progressively changed by evolution into new
species. The old species has changed and not really
die out, so this is called pseudo extinction.
The second common way, in which animals have
died out, is for a single species to disappear
because of some local disturbance, many animals
that have very special diets, for example, could die
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out very easily if their source of food goes down. It

is thought that certain species of dinosaurs were

adapted to eating particular kinds of reedy plants.

When these disappeared, those particular species

of dinosaurs starved and died out.

The words ‘extinct’ and ‘particular’ are

A. adjectives B. adverbs

C. nouns D. verbs

Which of the following phrases has a determiner in

it?

A. For example B. The old species

C. Local disturbance D. Starved and died out

The verb in the sentence “The old species has

changed and not really died out” is in

A. simple present B. simple past

C. present perfect D. past perfect

Which of the following has the three degrees of the

adjective in their correct form?

A. early - earlier - earliest

B. hot — more hot - hottest

C. easy - more easy — most easy

D. special - specialer — specialist

The verb in the sentence “It is thought that certain

species ...."is in

A. simple past B. simple present

C. present progressive D. none of the above

Which question is correct in its structure?

A. How did she complete task?

B. How she completed the task?

C. How did she completed the tasks?

D. How she did complete the task?

"I know him.” The passive voice form of the

sentence will be

A. He is known by me  B. He knows me

C. He is known to me D. None of the above
Hindi Language - 1

@A & HYUR ) fRU 7T qradi & Jafesor H g8 §

FIT-TT Y 5T &7

A. O I g B. & ag
C. 3Tad ard D. Hged areg
"HETAT & degel’ & AT §

A. Q& H Ser

B. I & oY ceger 1 Qleh W=l

C. " e YHYGH He

D. 9¢-d¢ & I FT

T ALY AT HIA IS

A. ST AT Y ETE L § P I oAg
B. {1 ATl &¥ TR 35T F gie §
C. TTYROT 1A & 3w T Al
D. 9T F1A & glerd amgaTr

feear T fRrefor T fafer

A. 3eioT fafer

B. 3T 9T fafer

C. YT GaTRITel

D. 3Wierd Fafr
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6 R I HET 38T ©

A. BT FI O 9T STET TGAT

B. UGV 37T TS &l a1 & [T 3798 &=1T
C. g 1 Qagdl &I fahrT Hge

D. THTYd 16 H & 3coel el

AT fRYeToT & 3UTeTe g

A. 918 THT 3UTeTH B. TTT TI&T0T 39T
C. (A) 3iR(B) gt D. 31 ¥ &I oar
BTET & e HUSR H Jeftl it T 34T &

A. QUSEHILT FT 3TIRT

B. Ol & TQTEArT Y Y T Ferelr
C. 18T ganr 3= g 13 2regl & gAheT

D. 3WIed Fair

3T fafYr & &t fr g &

A. i B. ar

C. ard D. d

TRIETOT shieTel &7 3T R 7T &

A. HETT & 3ol B. &I & a8

C. (A) 3iR(B) gt D. 37 ¥ HIg oar
@ sffeafea & arga g1 &

A. 9T ol@eT B. feetr or@er
C. arg-faarg D. ATCH o EsT

STeleh! ol @ e O Ugel Ig 39T+ §
A. 38R fagrer

B. IRg@sr @@=

C. @ gFaedT fSrarar 3cdeed adelr

D. 3=Tepr Toharefier S=I1ar

Rue #Aifsar 7 afFafaa 7 fear s awar

A. ATIR-9F B. af¥erd

C. Urea-9&dsh D. #ATCT oi@el
SITE &7 872

A. & & deTer

B. 3Udg eCUTcH gleial FaT

C. (A) 3R (B) =t

D. 3Wad # § &I o8l

FEQfTSS Gl T ST HT THE FROT E

A. TS @ i B. UTaTsha it

C. forsuet Hedie D. facnfdt & R

ot $r e FfFcafFa fFg yerR & g A @
Hehdll 87

A. FEgfass B. JfceTgmRIcA®

C. Ae=arcas D. SERITHAS

e Hearsha gishar & B adry BT & &7 &
e fRar?

A. Afrae B. &aC

C. se[dH D. sharel
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SUARIcHS fAETOT garT

A. IEITIRT T SFTT HT 3TAR A ¢

B. BT & O glel W 39AR & &

C. ot & FHNRET T e T 38 g7 e 8]
RAIeToT IR §

D. & ¢ el Fehd
3TIROT FURA FT FI el FHeHT H HLT TIRT?
A. IRTFIH B. ATeafAs

C. 3=g-areafis D. 3= FHem3t &

A&er (139-143): [FFfell@ad TGITr & ITER 97 971
& 3 T

HRA 3 erawdr #F 3T ugar F #fwor ard-yided &
AR e g0 o 3w agopeh fawmr feam ¥, st
Tecg gl olfche] 3HAT Uh YRISS U H 3137 o
g1 37 &- §ad, Shfeh A R IR Hifadedr &
50 AT 9§ TEARAT AR seae & 0 W1 & g
g I § oA SRUT A 3ReT 7 dolell g aram
g &g, S, #NmEe, FFverdae-g9fa fafffemd
S IEEY & Y 3ugR H AN o, 3T T wdl-A-ahel
3T NHAEYS olfell ToFes] HIT |l gl IRUTFTTRT
RIS U5 e & Sot, fa@iosd gidl seem 3R
Foifhd BT faRam_ AT & faw Fler Hr a1 aF
e 1 W § FAu A B FhE Ehiat
THE SRETTAT HT 9T AW ofell 3T FAGT| 3e: Fogal
F HeT Al & €d@EAN W Frd H Ul &
fowToT € 3T gl

g Use SAI3U fHEH Aiey qur YT el Py g3
g

A. Tt B. eqarfaerst

C. refiear D. §FYerIare

SAH ¥ 9 2Teg AU fOEH WA dUT 398 H AT
g e

A. ara-gfagrd B. #ARdaraar

C. et D. 3TcAfeRar

9§ dcHH s IdisU foras a1y 39EeT 3R ueId oet
quhwgm%

A. AT B. ATIAAr

C. 3R D. fa@fisa

T TN HHE T 3STEI0T 318 F hiel-HT 872

A. SHEYH B. 3TcATAIRAr

C. Srrarrat D. gaifas

SAH | SleI-HT 26G dcdH g7

A. TIdTT B. sicEm

C. sufsar D. TS
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TAEeT (144-148): AFAelf@d TG FI GG F97 &
FX Tl

$HA AH F Al A 2T A §U W G| 98 &
afra ot W 38 AT FT g1 & 7 U7l el T ST
TS| 3T AR s R oft 39 A7 a o9 3Ea
TEeT E T, T el oRe Tl Gagsadhr Y i
¥ A 8 W A 98 X g Gy W AT F 3T
SR 3R Fear aa & [T &g S9-J8 98 38, F8s
3R TEfha @ @ide & AT Tl Foal F 390 @
& WS Wew| $ga Feefad 97 1 @ilst H o1
& J&1, gRaR & AT, T, e 3R S-S ofr weiEr
T &l

FF-A & T T A Reg F1 AT R = g ?

A. @read B. faazor

C. IS5t D. reifaa

‘T AH F B S| 57 AT H lA-AT HIT 572
A. AT 8 B. 3M¥eet 87

C. 9ot 8 D. ®feayr o[

FRE e & 99T & daee s9H @ fRa s &
agaa?rﬂ?rm?

A. €t B. M
C. = D. @Y
A0 O 5y eUeg &1 folar AT sgararn?
A. =TT B. o1
C. asfhra D. HMEAT

ST W IA-ET A HeT gl H @ TR g §?

A. g B. #

C. Wiar D. far
*$9aR JFE FhelcT Yald |’ Ig aed §
A. "&hddrds B. AYTetaras
C. STorardesh D. faragmaras

BRI DIET 1S WRled MfH e 3w Ued g1’ 36
g # 9O &1 Jear &
A. BIeT &S B. uTfdieh qeash 3w

C. T H1S UATed D. 9&dT §
English Language - 2
The dramatic monologue, a technique of drama, is
a
A. dialogue with self by the character
B. it is for the audience
C. it expresses mind and innermost feeling of the
character on the stage
D. All of the above
The English sonnet has
A. three quatrains and a couplet
B. two quatrains and a couplet
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C. four quatrains and a couplet

D. None of the above

The elegy is a

A. Mourning or lamentation poem

B. It is formal and sustained poem

C. It is judged by its theme or subject matter not
by it's meter or stanza form

D. All of the above

What does the word 'diphthong' mean?

A. One sound B. Two sounds glide

C. Single word D. Double words
Monophthongs are in numbers.
A. 8 B. 10
C. 12 D. 14

The correct transcription of the word 'examination’
is

A. /1g,zaemi nein/ B. /ekdzemine/Man/
C. /egzemlinefon D. /egdzamine|fan/
The correct transcription of the word 'classes' is

A. /kla :slz/ B. /Inglif/

C. /klesedz/ D. /klasldz/

The correct transcription of the word 'English’ is
A. /Inglif/ B. /Inglif/

C. /english/ D. /englis/

Which of these is a constituent of communicative
competence?

A. Grammatical competence

B. Strategic and socio-linguistic competence

C. Discourse competence

D. All of the above

Delayed language development is called

A. deficiency B. aphasia

C. dumbness D. handicap

Which of these is not a cause of disorders?

A. Socio-economic, emotional, environmental are
educational cause

B. Excessive use of toffees, chocolates and fast
food

C. Poor model

D. Repression and over control by parents are
teachers

Which of these is the goal of communicative
approach?

A. Appropriateness B. Acceptable language

C. Fluency D. All of the above

In present era English language teaching is facing
A. over emphasis on grammar

B. lack of language laboratory

C. teaching through translation

D. All of these

Unit test is an expression of

A. normative B. formative
C. effective D. affective
Highly reliable test is
A. objective type

C. true and false

evaluation

B. essay type
D. None of these

Directions: In the following question, sentences
are given with blanks to be filled in with
appropriate  word(s). Four alternatives are
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166.

167.

168.

169.

170.

171.

172.

173.

suggested for each question. Choose the correct
alternative out of the four.
Terrorists are trying to

A. blow up

B. breakdown

C. fallout

D. None of the above
Which of these is the strategy of
teaching?

A. Action research B. Programmed test
C. Both (A) and B. D. None of these
The aim of remedial teaching is

A. to diagnose learning difficulties

B. to eliminate ineffective habits

C. reteach incorrectly learnt skills

D. B. and C.

several bridges.

remedial

Directions (169-173): Read the
passage and give the answer.

following

There is no short cut to success. The route to
success is hard and long. Consistent hard work is
the main secret of success. Those who shun work
are bound to fail. The second ingredient of success
is perseverance. Perseverance is the steadfast
pursuit of an aim without any let-up or hindrance.
There may be difficulties, obstacles, hurdles and
barriers in your path, but you don't have to get
discouraged, disheartened and frightened. You
have to push on with fortitude. Temptations of
comfort and enjoyment have to be brushed aside.
Another important and indispensible requirement
for success is concentration. All your attention and
energy should be riveted to your aim in life. You
should not be able to think of anything except your
goal. No digressions and deviations.

In the above paragraph the word 'second' indicates
A. sequence B. addition

C. emphasis D. time

Which one of the following is the most appropriate
title for the passage?

A. Aim of life

B. Hard work and success

C. Shortcut of success

D. The secret of success

Hard work in success.
A. result B. results
C. resulted D. None of these

In the above passage the author wants to convey

A. success is the result of hard work

B. perseverance is essential for success

C. to get success, get rid of all obstacles

D. All of the above

People do hard work, hard work is essential for
success, so people are hard working. Above lines
contain

A. the fallacy of hasty generalization

B. the fallacy of false analogy

C. the fallacy of equivocation

D. the fallacy of composition
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Directions (174-177): Read the following
passage and give the answer.

Extract 1

1. The seed I spent or sown it where

2. The land is his and none of mine?

3. We speak like strangers, there's no sign

4. Of understanding in the air,

5. This child is built to my design

6. Yet what he loves I cannot share.

Extract 2

7. Silence surrounds us. I would have

8. Him prodigal, returning to

9. His father's house, the home he knew,
10. Rather than see his make and move
11. His world, I would forgive him too,
12. Shaping from sorrow a new love.
Extract 3

13. Father and son, we both must live
14. On the same globe and the same land,
15. He speaks I cannot understand.

16. Myself, why anger grows from grief
17. We each put out an empty hand

18. Longing for something to forgive.
The rhyming scheme of Extract 1 is

A.abbaab B.abbcde
C.abcdef D.abbaba
In the above poem which line contains simile?
A. Only line 3 B. Only line 5

C. Both lines 3 and 5 D. None of these
Which lines in Extract 2 contain 'Assonance'?

A.9, 12,11 B.7,11, 12

C. 7,9, 10, 12 D. All of these
Which lines match in rhyming in Extract 3?
A. 14, 15,17 B. 13, 14, 18

C. 13, 15,17, 18 D. 14, 15, 16
Everyone follow the traffic rules.
A. can B. may

C. could D. must
Language learning starts from

A. Listening B. Speaking

C. Reading D. writing

The English curriculum is concerned with
A. learning of language
B. learning through language
C. Both A and B.
D. Neither A nor B.
Hindi Language - 2
‘TET TR ST § Tl Fel ANy T oY’
A. TAT 39arFT B. [3AYur 3uarey
C. frar-faQwor 3uarer D, T 3udrery
AT ot 36 HeAH ¥ GO Fglet o o'l 570 ey A
Fod Fg FRE 7 §?
A. T FHRH B. H ®N&
C. 3UTeTd & D. §F9CT FHRHk
‘aﬁ-aﬁagwwagﬁwggml’mmmr%
A. RAvoT Iuareay B. HaAT-faQur 3udarey
C. Far-l3AYer 3uarerm D, W 3UdT
HIST T FTT HIeTel
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185.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

A. forger
C. drelaT

B. 9gaTT
D. I @it

AT fRigTor fAfer & gade §

A. SifeT 3yt B. Sseg TH fohoriifiesh
C. sToce D. 3R&

BIT TP AT HoUaRIFd [ARAT FIed HT ATCTH §
A. FETIEST B. Tarpsfa sfamd

C. diufors amemd D. aRat $r Fgrfaar
AT RIE0T & fAued §

A. ST FT RgHed

B. fohalT garT diEs &1 [Agued

C. Sfast ¥ s & Reyed

D. 3WIFd gl

HTSTS Pherell TUT-FoAeT, Selell, e, T forgeTr e
e et ok qOT g1 STl =migu?

A. FeTT ar B. e el

C. et 9ig D. HaT 3Ts

o ATi@S HFATFd S ATAT & Hedichel el ALY
et & & 3maTs ¢

A. e 3TUROT

B. 3faa #fia

C. SITEIUT FFAT YT T GI1eT

D. 3WIFad Tt

#aor Fierel F fAHfa w0 F A sugEd yomeh §

A. SITEIT YUTTelr B. =T JoTTel

C. 3fra gomelr D. el YoTelr

TRA-I fAATT A @ g AT & R g9T A IR
FAT IATF §?

A. 93&F JEIH B. 5o fue

C. uregsha D. uRaAT & YR
HET-TLT AHIA 161 ¢

A. o fa B. g¥asieT

C. TafaT D. 3m@&T

#fae AfAcafada Siua F1 Qe F F1 aIFd Aegq
g

A. Taearer afemr B. Al

C. grg-faarg D. fFasr FrimA
Hogihel &I AT 0T §

A. FEIfAsaAr B. favawefradr
C. degdr D. ¥ &l
HTST G&TdT &I IR[FHS iU ¢

A. geta B. Sefelr

C. 9GaTT D. forgar

AT et 1 AW ey ot §
A. Tasg &1 faeqd AT
B. STeT AMTAATT &1 AT
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C. et Rt &1 7=

D. Y&y 3R

fAFeT 7 @ 3uafeer qfieror fAHATor 1 =or A
A. darfores gt @ forgar

B. ©El T HAAT & HRON HT SATARRT I FHIAT
C. 92 AT e

D. #H® A STl AR FHLAT

HIdTcHS Y& & Aol g IIgFd ATl

A. STiFdcd AT B. 3ifeghr amaeh
C. 3UcfsRr HTT=A D. grafaeh e

& (199-203): EFfcif@ad Fregrer & 3R W
Jo:7] 3 Jav dfFT!

Wi & Yiley ardifae (AT Aol ¥ wgr a1 6 qF 7 v
FAFT 3T ol § SR gt & Jeulieard wd gdfadt
T SG-SWS H 7Y FA g8 Mo & qearcy v s
A TUC A oA FTer gl Vel H Hhd TIC T
gdlelog TREACT &l 3R AT SAifh AR S-SRI &
QT & F H IIRA A 37T A
eyfdeay & gAY §

A. AT B. FHRYURY

C. ¢deed D. 3rcgdrea
39EeT, dcad st 3R Ry & g @ AT osg &
A. erdifaieh B. SS-si@mst
C. pafa=t D. drearey
T arw ereal #F @y swEe ¥ RfFT g §
A. R B. qer
C.ﬁﬁ%’ D.‘fIDTI'UT
rafafaa & acaa osg &

A. Tehd B. Iuc

C. 35S D. 31T
frefaf@a 7 qderfas Brar w2 §

A. TR B. 3T
C.aﬂ?ﬁgé D.& & &

Ader (204-208): FEF71Af@T FHregrer & TER 7
go7l & Fav difsv/

&THT QNSTT 37 o191 T Tordesh 91 IR &
3 T A Geadre, fawiyd, fBefa @ &
e aw oo Ty Al gufa ey e
IS TG W TG AT F RN

3W H 9 T Alg, 3T 3aT o1gf AR &

38 3tk afr gy &ir 3T I F R I
f@ey 2§ e Ffe-AMfg e 3 IRy eror &
TROT YT SIEAT FEVT T §4T Hg dotred
T gel dr R A guar § At e i
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afctads qqsa 38 & @ afea oo

204, 3WIFd HISATLA F TUH TIOT H AT §
A. &THT FTEAT ST T TIHE
B. &THT QfFdemelr I et i
C. gergreT safdd & o afAT 3meqwor
D. 89T &7 IR & 3T &7
205. dRRY 3R @Y WO FT Feaw IR §
A. 3AT-faeT & geel @l AT THSIT ST Hehell
B. 3fera-faeta &l &ell w1gh g =ifew
C. faadaar shaed &r R §
D. 37T & WR-SIR Sefe-foideh g &
206. I HIAT T AT §
A. FTYE 0T JFT e 3ed T qgad-agad Herqor
B. 31fd &
C. HiSe, THg H goa

D. faw-axg & vidge/famia
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SH FEAA & 5, 6, 7 W1 & Fg smg i qfFcafea
g ¥

A. FHg T Segusdr

B. g & WEH

C. TH &I Fgaderdr $r

D. T & 9y #r

e &fr &fca e Aa Far g2

A. FIET A B. Y8R & H
C.qR & D. afeyaasr #

&l & WY T HRb e gFd awg A
A. fRT Tea AT AT Flel Y gl &
B. R W&a sTaerer Y el &

C. forar 3rqol gt el T gl &

D. foram qul acdATe el &1 g &
faf@d & 9 39T F7 gHR & §?

A. fpar-faQyor B. gFdetaIe s
C. mgu—ﬂa’ma? D. gaT-faLvor
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